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Time : Three Hours | IMaximum Marks : 75

Note : Attempt all the Sections as per

. instructions.
e : ol wuEl B TR & it
Section-A/30=-31
(Very Short Answer Questions)
(afer o1g I w9 )
Note : Attempt all five questions. Each
question carries 3 marks. 5x3=15

Hz ;T O veE $ IO Ao yle 99 3
3! B B

1. What is the modern approach of finance
function?

fora o o e FoaRYRT @9 8?7 3

P.T.O.

2.

Explain the Utility of operating Leverage.

aRare A= & 3UAEr sasy|

What is stock dividend? 3
Th-El FTUTY o dEd &7

What do you mean by current liabilities?
el aTied | 3T auT Tasy &7 3
‘fufhat is capital Budgeting? 3
U5 FoteT aar &

Section-B/wguz-g
(Short Answer Questions)

(7Y 3ot wes)

Note : Attempt any two questions. Each

question carries 7.5 marks.

e ;S @Y wedl & IR ARy wes 7.5

3BT T 2|

6. What _dc You mean by capital gearing?
What Is the significance of gearing ratio
in a business? 7.5
Toit RT3 T wweE # wuRr §
SHDT FUT HEad &7

/. How can the working capital needs of a
concern be determined? 7.5
fepeit == oY wrdehier STt &) savasanit o
H9 FerilRa s=nre

8. The following particulars are available for
Sudhir Ltd. : 7.5
(i) Earnings per share 7 4
(i) Rate of return desired by
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shareholders 15%

(iii) Rate of return on investment 18%
wWhat will be price per share as per
Walter is model if pay-out ratio is
40% or 60%.

R o0 & fore Fr=r faramor sueree @

(i) w379 g 2 4

(i) srerenfat grr sma v @ &R 15 %

(iii) AT W) yem & & 18%
afE Y= U 40% AT 60% B,
qeex Hise & AR ufd 359 gea @
gm?

Section-C/90s-9H
(Detailed Answer Questions)
(foreger 3wl wrg=n)

Note : Attempt any three question out of the
following 5 questions. Each question
carries 15 marks. Answer is required
in detail.

e Feafeified 5 veat § I G O 999 & TR
DA uAS we 15 3P BT 8| faga I
anfare gl

9. Explain the meaning and causes of over-

capitalisation. Discuss the methods of

correcting over-capitalisation. Discuss
the methods of correcting over-

capitalisation. 15

18093/3 P.T.O.

10.

11.

mf?r-;i?’ﬁﬁﬂm & 37 vd BRUN P WE B
FAferaTa=or B S B 3 fafer TR
Discuss the various methods of
evaluating capital projects pointing out
Eheir Suitability and limitations. . 15
Yol aResFmRt & geaies o Rl gek
B A DA, wrer & I sifaeg 7 i
R N uHTeTr ey
From the data given below, prepare |
working capital forecast :
Budgeted sales (T 20 per unit)

¥ 52,0000 p.a.
Analysis of one rupee sales :

Raw material 0.30
Labour 0.40
Overhead 0.20
Profit 0.10

1.00

It is estimated that :

(a) Raw materials are keptin stoke for
3 weeks and finished goods for 2
weeks.

(b) Factory processing  will take 3
weeks.

(c) Suppliers will give 5 weeks credit
and customers will require 8 weeks
credit.
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12.

It may be assumed that wages and
overheads accrue evenly throughout
the year. 15
P sifest @ oritha G @igna GOr
Hifare-
gsres fae (z 20 wia gor) ¥ 52,0000 wiciay

TS 0 & fama & faweror -

ol Hie 0.30

- 0.40

suftema 0.20

AT 0.10
1.00

g AT @ fob - |

(a) @ Al & TP d 3 g adb I@T Sl

2 3k R T @ 2 TaE a6

(b) HREF AHain-T 3 & Al _

(c) >MufdeEr 5 FEE & 9RE JEH B AR
ED 8 Teig O IR Tredl|

g |1 51 AT @ s Aerg) 3 suReaa ad &

ek ve v R g zm B E2

Shivani Ltd. wishes to issue 1000, 10%

debentures of ¥ 500 each for which the

company will be required to incur the

following expenses :

(a) Under writing commession 2%

(b) Brokerage 0.5%

(c) Printing and other expenses ¥ 7500.
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13.

Calculate cost of capital (before tax as
will as after tax) assuming the debt is
issued

(i) at 10% discount repayable after 10

years

(ii) 10% premium repayable after 10
years.

The tax rate is 45% : 15

fRrarit fo1. 2 500 @y 1000, 10% =oTas Frifg
B B s @ 5 e o0 B ey g
Caciiul

(a) M S 2%

(b) EEET 0.5%

(c) OURI T 37T &g # 7500.

g8 A 8P 6 w01 @t e

(i) 10 % ek R far sman & aor 10 af
9E 3T & 3k

(ii) 10 % Wy @) fEar san & 3tk 10 af
q1E 3T &, ] A g 3R #% & e Hh
ENTE &) MOTHAT BRA| TR Y TR 45% 2|
The management of a company is
considering a proposal to purchase a new
machine. In the market two machines 'A'
and 'B' are available, each costing ¥ 10
lakhs and each having an estimated life
sporn of 5 years. Annual cash inflows
from the machines are estimated to be
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as follows :

5 a4 2| #eiHl 9 89 gy aftes Qg wareg =

‘I’egr Machine A Machine B TR #
() (). —_—

1 300000 Nil T w3 Y - @

2 400000 400000 - (@) (%)

3 500000 450000 1 300000 Nil

4 300000 600000 2 400000 400000

5 200000 450000 3 500000 450000
A discount rate of 10% is used for 4 300000 600000
calculating the present value of future 3 200000 450000
cash flows. The present value of ¥ 1@ Hfasg ¥ B e A varet & Bkt 10% @
10% per annum are 0.909, 0.826, X | D S B 10% 3 Beldr e A vH T
0.751, 0.683 and 0.621 at the end of & T Yea wom, fedra, gdra, aqy vd gaw
first, second, third, fourth and fifth year ¥ & 3= F HA: 0.909, 0.826, 0.751, 0.683

eI 0.621 |

respectively., using the following methods

Fofofaa Gt & srer = Fwdmor &%
P! a8 FaF & 5 S wetm s

you have to suggest as to which of the

two machines will be more profitable :

ATHETI® &
(a) Pay-back period method (a) 3rETAT afer gl
(b) Net present value method. 15 (b) ¥z aH M qea fafen

OF S SEED! B HHE U A WA B
FE 1w faarea 81 ISR # 3 @
g 21 7e 3ucer €1 5md & 0SS & T 2
10,00000 & vd 1 #HT BT ST STaiere
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